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YOGA
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  What is the right meaning of “Yogah Karmasu Kaushalam” ?
(1) Clevered action (2) Selfless action
(3) Skilled action (4) Perfect action

2.  Indian Prime Minister Shri Narendra Modi participated in the Third International Day of
Yoga-2017 at :

(1) Lucknow (2) Ahmedabad (3) Chandigarh (4) New Delhi

3.  The nature of Chitta is :
(1) Unconscious (2) Conscious (38) Selfenlightened (4) Seer

4.  According to Prashnopanishad, which of the following combinations is included under
Rayi :
(1) Surya, Sthula, Krishna, Dina
(2) Sukshma, Surya, Dina, Shukla
(3) Sukshma, Chandra, Dina, Shukla
(4) Sthula, Chandra, Ratri, Krishna

5.  The Philosophy of Yoga Vashistha is called as :
(1) Dvaita (2) Advaita (3) Dvaitadvaita  (4) Vishishtadvaita

6.  Which of the following is included in “Chaturvyuha” ?
(1) Vitarka, Vichar, Ananda, Asmita

(2) Jnana, Dharma, Aishvarya, Vairagya
(3)  Maitri, Karuna, Mudita, Upeksha
(4) Heya, Heyahetu, Haan, Haanopaya
7.  According to Maharshi Patanjali, the cause of sufferings is the association of :
(1) Drashta and Guna (2) Drashta and Chitta
(3) Drashta and Drishya (4) Jeevatma and Parmatma
acor [ UL AN :
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8.  “Sarvaratnopasthanam” is the result of :

(1) Aparigraha (2) Pratyahara (3) Satya (4) Asteya

9. Dharana, Dhyana and Samadhi are the Bahiranga of :
(1) Sampragyata Samadhi (2) Nirbeeja Samadhi
(3) Pratyahara (4) Kriya Yoga

10. According to Gheranda Samhita, which of the following is the best method of Dhyana ?
(1) Pranava (2) Sthula Dhyana
(38) Jyoti Dhyana (4) Sukshma Dhyana

11. According to Shiva Samhita, how many rounds of kumbhaka should be practised at a
time :

1) 20 2) 40 (3) 60 (4) 80

12.  Which structure of the living cell is responsible for biological protein synthesis :
(1) Golgi Apparatus (2) Mitochondria
(3) Lysosome (4) Ribosome

13. In young children, the deficiency of vitamin D leads to :

(1) Rickets (2) Osteomalacia (3) Osteoporosis (4) Keratomalacia

14. Studying the behaviour of abnormal individuals is called :

(1) Introspection (2) Psycho-analysis
(3) Observation (4) Differential Method

15. Which dimension of health is not mentioned in the definition of Health, according to World
Health Organization ?

(1) Physical (2) Mental (3) Spiritual (4) Social

16. In definition of Ayurveda, which dimension of Ayu is not mentioned ?
(1) Hitayu (2) Ahitayu (3) Sukhayu (4) Dirghayu

17. On the basis of Satva, Rajas and Tamas, the total number of Manas Prakriti are :
10 ( 12 3) 14 4) 16

1) 2)
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18. Result of Apara Vairagya is :
(1) Vivekakhyati (2) Sampragyata Samadhi
(8) Asampragyata Samadhi (4) Dharmamegha Samadhi
19. “Vyoma Chakra” is the synonym of :
(1) Gyana Mudra (2) Khechari Mudra
(3) Mula Bandha (4) Vipritakarni
20. For a teacher, verbal and non-verbal expressions are the two components of :
(1) Confidence (2) Communication
(3) Patience (4) Empathy
21. Chitta includes :
(a) Mind
(b) Intellect
(c) Ego
(d) Prana
Find the correct combination according to the code :
Code :
(1) (a), (b) and (c) are correct (2) (b) and (d) are correct
(3) (c) and (d) are correct (4) (a) and (d) are correct
22. The characteristics of Sthitapragya Purusha, according to Bhagvadgeeta are :
(a) Involvement in Social work
(b) Devoid of Raga and Dvesha
(c) Detachment from Indriya Vishaya
(d) Desire of Sukha
Find the correct combination according to the code :
Code :
(1) (a) and (b) are correct (2) (c) and (d) are correct
(3) (b) and (c) are correct (4) (b) and (d) are correct
oo [ IR ;
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23. The causes of Vyadhi (disease), according to Yoga Vashistha are :

(a) Attachment and Hatred

(b) Lack of Knowledge

(c) Imbalance of Kapha and Pitta

(d) Impure Diet

Find the correct combination according to the code :

Code :

(1) (a) and (c) are correct (2) (b) and (d) are correct

(3) (c) and (d) are correct (4) (a) and (b) are correct
24. According to yoga Vashistha, the causes of “Adhi” are :

(a) Increase of Kapha and Pitta

(b) Attachment and Hatred

() Impure Food

(d) Non-fulfilment of desires

Find the correct combination according to the code :

Code :

(1) (a) and (b) are correct (2) (b) and (c) are correct

(3) (c) and (d) are correct (4) (b) and (d) are correct
25. According to Bhagvadgeeta, which types of karma are not the cause of bondage :

(a) Samajika Karma

(b) Nishkama Karma

(c) Karma Offered to God

(d) Sakama Karma

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (b) and (c) are correct

(3) ) and (d) are correct (4) (a) and (b) are correct
N7 \II\I AT :
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26. According to Patanjali, “Kayasampat” includes of :

(a) Graceful and beautiful body

(b)  Strengthful body

(c) Firm and compact body

(d) Healthy and Flexible body

Find the correct combination according to the code :

Code :

(1) (@), (c) and (d) are correct (2) (b), (c) and (d) are correct

(3) (a), (b) and (c) are correct (4) (c) and (d) are correct
27. According to Yoga Sutra, the methods of getting perfection in Asana are :

(a) Pranayama

(b) Prayatna Shaithilya

(c) Ananta Samapatti

(d) Pratyahara

Find the correct combination according to the code :

Code :

(1) (b) and (c) are correct (2) (a) and (b) are correct

(3) (b) and (d) are correct (4) (c) and (d) are correct
28. Benefits of Kriya Yoga are :

(a) Kaivalya

(b) Reduction of afflictions

(c) Leads to samadhi

(d) Skill in action

Find the correct combination according to the code :

Code :

(1) (b) and (d) are correct (2) (a) and (b) are correct

(3) (b) and (c) are correct (4) (c) and (d) are correct
N7 \IHII“IIIIII“ A 1
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29. According to Hatha Pradeepika, what are the benefits of Neti Karma :
(a) Kapala Shodhan
(b) Divya Drishti

(c) Agni Sandeepan

(d) Jatroordhva Roganasha

Find the correct combination according to the code :

Code :
(1) (a), (b) and (c) are correct (2) (a), (b) and (d) are correct
(3) (b), (c) and (d) are correct (4) (@), (c) and (d) are correct

30. The word “Kaivalya” is mentioned in which of the following Texts of yoga ?
Hatha Ratnavali
Siddha Siddhanta Paddhati

(a
(b
(c) Patanjali Yoga Sutra
(d) Gheranda Sambhita

Find the correct combination according to the code :

Code :
(1) (a) and (b) are correct (2) (a), (b) and (c) are correct
(3) (a) and (c) are correct (4) (b), (c) and (d) are correct

31. According to Shiva Samhita, out of 84 Asanas which main asanas ought to be adopted :
(a) Siddhasana, Padmasana
(b) Ugrasana, Swastikasana
(c) Simhasana, Bhadrasana
(d) Padmasana, Simhasana

Find the correct combination according to the code :

Code :
(1) (a) and (c) are correct (2) (a) and (b) are correct
(3) (b) and (d) are correct (4) (b) and (c) are correct
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32. According to Hatha Ratnavali, “The Maha Yoga” includes :
(a) Mantra Yoga, Laya Yoga
(b) Karma Yoga, Hatha Yoga
(c) Hatha Yoga, Raja Yoga
(d) Gyana Yoga, Raja Yoga
Find the correct combination according to the code :
Code :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (c) and (d) are correct (4) (a) and (c) are correct
33.  Which of the following are not the types of Antardhauti, according to Gheranda Samhita ?
(a) Vahnisara dhauti
(b) Bahishkrita dhauti
(c) Vamana dhauti
(d) Danda dhauti
Find the correct combination according to the code :
Code :
(1) (a) and (d) are correct (2) (a) and (b) are correct
(3) (b) and (c) are correct (4) (c) and (d) are correct
34. Which glands of body are exocrine in nature ?
(a) Pituitary
(b) Liver
(c) Salivary Gland
(d) Thyroid
Find the correct combination according to the code :
Code :
(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) (b) and (c) are correct (4) (a) and (d) are correct
N7 \IHII“IIIIII“ A 1
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35. Which of the following are the functions of Respiratory system ?
(a) Ventilation
(b) Vision
(c)  Process of smelling
(d) Creation of sound
Find the correct combination according to the code :
Code :
(1) (a) and (d) are correct (2) (a) and (c) are correct
(3) (a), (c) and (d) are correct (4) (a), (b) and (c) are correct
36. Styana, Samshaya, Avirati, Bhranti Darshan are included under :
(a) Antaraya
(b) Chitta Vikshepa
(c) Sahabhuva
(d) Upavikshepa
Find the correct combination according to the code :
Code :
(1) (b) and (c) are correct (2) (a) and (b) are correct
(3) (a) and (d) are correct (4) (a) and (c) are correct
37. Which of the following types of foods are not beneficial for individuals of Pitta Prakriti ?
(a) Sour
(b) Sweet
(c) Pungent
(d) Cold
Find the correct combination according to the code :
Code :
1) (Band(d (@) ©@and(d) (3 Mand(© @) (a)and ()
o T 1
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38. According to Ayurvedic texts, diseases occur mainly due to :

(a) Imbalance of Dosha

(b) Loss of Immunity

(c) Malnutrition

(d) Imbalance of Dhatu

Find the correct combination according to the code :

Code :

(1) (b) and (c) are correct (2) (a) and (b) are correct

(3) (c) and (d) are correct (4) (a) and (d) are correct
39. As per research evidences, reduction in Blood Pressure is associated with :

(a) Decrease in Catecholamines

(b) Increase in Catecholamines

(c) Decrease in Cortisol

(d) Increase in Cortisol

Find the correct combination according to the code :

Code :

(1) (b) and (c) are correct (2) (a) and (c) are correct

(3) (b) and (d) are correct (4) (a) and (d) are correct
40. Which of the following are balancing asanas ?

(a) Garudasana

(b) Trikonasana

(c) Natarajasana

(d) Katichakrasana

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (c) and (d) are correct

(3) (b) and (c) are correct (4) (a) and (c) are correct
acor [ UL AN 2
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38.

39.

40.

oo [ U

AT T & STTOR SHRET T ®9 § g SRor gt § 2
(a) ST T ST

(b) iRy &l & 7

(c) Fumm

(d) =g T STHIT

e & STIAR Fet GaASH T :

<< :

(1) (b) 3 (c) W& & 2) (a) 3R (b) T ¥
(3) (o) ¥R (d) w & @) (a) 3R () TE ¥

3 T3 WY | T Wied % ATAR, T A9 B HH BT R Hey § 2
(a) heehload | Sl

(b) hemrantid H gfg

(c) Hiféda H el

(d) wifeda H gfg

< o STER Tl FASH T

<

(1) (b) 3R () T T () () () TEE
(3) (b) R (d) AT (4) (2) 3 (d) T T

frefafed § | HF-91 HeHHs T § 2

(a) TTeSEA

(b) TR

(c) FUSTEA

(d) hic=shTEA

e & STIAR Fet GaASH T -

< :

(1) (a) ¥R (d) & & (2) () 3 (d) W &
(3) (b) ¥R () WA T (4) (a) ¥R (o) WA E
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42,

43.

N-10017 ‘m““"“““

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Vidya leads to immortality.

Reason (R) : Tattvajnana is the means to attain Moksha.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Mitahara is essential for practice of yoga.

Reason (R) : Intake of Sweet and Unctuous food and remaining one fourth part of
stomach empty are the characteristics of Mitahara.

In the context of above two statements, which one of the following is correct ?

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

M
2)
(3) (A) is true, but (R) is false.
4)

4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Impure Nadis are the obstacles in the stage of Unmanibhava.
Reason (R) : Nadi shodhana is essential before the practice of pranayama.

In the context of above two statements, which one of the following is correct ?

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3) (A) is true, but (R) is false.

(1)
(2)
)
(4) ) is false, but (R) is true.
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41.

42.

43.

F et T & o W T ) e (A) SR TR F W (R) F S A §) A A
e ¥ TR SR AT

AfaeRe (A) . o A TR 9T drer

e (R) : TR HIETTG h1 1 2 |

SR < FHeAl o Geof # frfafed § 9 wH- w82

(1) (A) 3R (R) Sl T € 99 (R), (A) FT T ARAT T |

(2) (A) 3R (R) I T T, AfRT (R), (A) ! el AR T |
3) (A) W& ¥, Afehd (R) Ted B
4) (A

4) (A) T ¥, AfEA (R) Tl 7

T o3 T < oAl ¥ F U HI AR (A) SR T I qeh (R) H G < E 7)AW@
foehedl # 9 W& SW =T :

AR (A) : A F o faaer eifad 21

e (R) : YR qe Feqmer oM T Td Teh =1 U2 i Grelt W1 fider ot fawoand |
SR < FHeAl o geof § frefafed § 9 wH-w w82

(1) (A) 3R (R) Sl TE € o1 (R), (A) T &t = ¥ |

(2) (A) 3R (R) I T T, AfhT (R), (A) T el ARA T < |

3) (A) W@ ¥, Afehd (R) Ted B

(4) (A) 7@ 8, AAfehd (R) §&T 2|

4

T o3 T < Fudl ¥ F T H AR (A) 3R T I qeh (R) G < R 7)AW@ T
foehedl # ¥ W& SW =T :

ANURIT (A) : ST AMSAT SHATITS T 1L H TaeH |
& (R) : WO % A % Jd Aereied Afart
ST 31wl & o § frefafed § 4 fH- 9 €2

(1) (A) 3R (R) I W& 8 T (R), (A) Tl T A& B |

(2) (A) 3R (R) I T T, AT (R), (A) ! el ARA T < |
3) (A) W& ¥, Aferd (R) Ted B

(4) (A) 7T §, Afed (R) 92T &
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44.

45.

46.

N-10017 ‘m““"“““

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : In Jaundice there is yellowish discoloration of skin and mucous membrane.
Reason (R) : Jaundice occurs due to increased level of serum Bilirubin.

In the context of above two statements, which one of the following is correct ?

1) Both (A) and (R) are true and (R) is the correct explanation of (A).
3) (A) is true, but (R) is false

4

D
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
@)
(4) (A) is false, but (R) is true

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Observation method in psychology is a popular method of assessing
personality.

Reason (R) : Observation is to study the behaviour pattern of an individual in actual life
situation.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

)
(2)
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Satvika food is good for a Yoga Practitioner.

Reason (R) : Sour, salty, stale and impure food should not be taken by a yoga practitioner.
In the context of above two statements, which one of the following is correct ?

1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

4 ) is false, but (R) is true.

(1)
)
(3) (A) is true, but (R) is false.
4)
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44.

45.

46.

F et T & o W T ) e (A) SR TR F W (R) F S A §) A A
e ¥ TR SR AT

AfeReT (A) :  Hifeen § = SR vorwe faeett 1 31 farea dier & S )
e (R) : Tiferan I IR fafeefad TR & 9¢ S % R 6 8|
SR < FHeAl  gedf § frfafad § 9 FH- @& 82

1) (A) 3ﬁ'{(R IHI TE € 991 (R), (A) T 96l AR |

2) (A) 3R (R) S T &, AfHA (R), (A) T Tel A 7 ¥ |

(3) A)ﬂ%“f% Al (R) Tord B |
(4)

4)  (A) T @, AfeRd (R) &t

T o3 T < FuEl ¥ F U HI AR (A) SR T I qeh (R) G < R 7AW @
foehedl # 9 & SW =T :

AR (A) :  TAIfaTH H s1aciie fafy Safade % qeaisha &1 T aehiaa fafy T

& (R) : 3TaceR | fohelt SAfe st AR A=A il ardfaes sirem g § ereram
IERISICIES

Wﬁ%ﬁ%wﬁﬁﬁwﬁﬁaﬁﬁﬁaﬁﬂ qIHE T ?

(1) R) THT T € 991 (R), (A) T T A ¥

) (A)aﬁ'{(R IHl TE €, AfRA (R), (A) T Tl =A@ TR R
(3) (A) W& T, Wfehd (R) o < |
4)

4) (A) T B, AR (R) el § |

F et T o A T B e (A) SR TR F A (R) F S A §) A
ol 3 & W IR T

AT (A) : ik ARR AFMaEt & faw STt 1

e (R) : AT Rl ST, Favi, arE SR T[S SR ol ¥aA &l il =y |
ST T HeHl & Ged § fr=fafed # 4 fH- '@ €2

(1) (A) 3R (R) I W& § 9 (R), (A) Tl T A& B |

2) (A) 3R (R) S T& &, AT (R), (A) T Tel = & ¥ |

3) (A) W& ¥, Aferd (R) Ted B

(4) (A) 7@ §, Afehd (R) 92T &
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47.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Naukasana is beneficial for obese persons.

Reason (R) : Naukasana compresses abdomen, stimulates digestive power and thereby
helps in reducing the abdominal fat.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

)
(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
48. Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :
Assertion (A) : Processed meat is Carcinogenic.
Reason (R) : Evidences from scientific studies show direct association between eating
processed meat and developing colorectal cancer.
In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
49. Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :
Assertion (A) : Meditation helps in relieving stress related migraine.
Reason (R) : Practice of meditation decreases secretion of cortisol, relaxes mind and
thereby relieves stress related migraine.
In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) ) is false, but (R) is true.
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47.

48.

49.

T S T ) weEl B A U A AR (A) IR TR I deh (R) H HA < R 71 A9 T T
ferehedi § & W SR SFIC ;
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50.

51.

52.

) (@), ()
eaoon7 ]

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Community serves as a great teaching aid.

Reason (R) : Several facts can be taught vividly by making the students observe the
community development projects.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

Identify the correct sequence of the chapters of Yoga Sutras.
(a) Sadhana pada
(b) Kaivalya pada
(c) Samadhi pada
(d) Vibhooti pada

Use the code given below for correct answer :

Code :
1) (@), (0), (d), (b) (2) (b), (@), (9) (d)
3)  (0), (a), (d), (b) 4 (@), (9, (b), (d)

According to Yoga Vashistha, arrange the following stages of Yoga in sequential order :
(a) Vilapani

(b) Manana

(c) Brahmavit

(d) Shravana

(e) Nididhyasana

Use the code given below for correct answer :

Code :
1) (b), (e), (d), (a), () ) (b), (d), (e), (¢), (a)
€ , (e), (a), () 4)  (d), (b), (e), (¢), (a)

), (a), (
(i
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50. I o3 T3 < Forl H T U I AR (A) 3R T F Gk (R) F T G R 71 A= I ™
fashedl § 9 W@ SR =T :
AR (A) :  TURHE T o 1o wem o €9 H & a7

e (R) : BEI S AR T qRESHIST H1 STacieh Hial & Siad dwis o 3HH
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ST T HeHl & e § fr=fafed # 4 fH- ' €2

(1) (A) 3R (R) Sl TE € o1 (R), (A) T &t = 7 |

(2) (A) 3R (R) S T T, AfRT (R), (A) ! el AR T < |
3) (A) W& ¥, Afehd (R) Ted B

(4) (A) 7@ §, AAfeRd (R) 92T

51. N §A LA I F&l A I
(a) WEA U
(b) heed UG
() Ty U
(d) fayfa =
T W & fore frfafed se &1 3w =L

52. AN ST o ATER A 1 Tefafed stereneti o1 3fed s | sHafied i :
(a) ToreraHt
(b) w17
(c) e
(d) ga
(e) THfeea™EA
IW & foan Fefafed Fe w1 3w =L
<< :
1) (b), (e), (d), (@), (c) (2)  (b), (d), (e), (9) (a)
(3) (), (@), (9) 4)  (d), (b), (e) (9) (a)
I
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53. Arrange the following stages of chitta in a sequential order :
(a) Vikshipta
(b) Ekagra
() Niruddha
(d) Kshipta
Use the code given below for correct answer :
Code :
DO (@), (), (b), (o) 2 (d),. @, (), (o)
@) (@), (d), (c), (b) 4)  (d), (@), (c), (b)
54. Arrange the following practices mentioned by Gheranda Rishi in the sequential order to be
followed before Pranayama :
(a) Mitahara
(b) Time
() Nadishuddhi
(d) Place
Use the code given below for correct answer :
Code :
1) (d), (b), (a), (9) (2)  (b), (d), (a), (9)
@) (@), (b), (d), (o) 4 (d), () (), (a)
55. Arrange the following parts of large intestine in a sequential order :
(a) Colon
(b) Rectum
(c) Caecum
(d) Anal canal
Use the code given below for correct answer :
Code :
1) (@ ®) © @ @ (@ © O @
@) (), (@), (b), (d) 4) (@) (), (d), (b)
56. According to production, arrange the following dhatus in sequential order :
(a) Meda
(b) Asthi
(c) Mansa
(d) Rakta
(e) Majja
Use the code given below for correct answer :
Code :
1) (@, @), ©, O) @ @ (@ @ @, 0) @
@) (@) (c), (d), (e), (b) 4) (9, (@), (d), (e), (b)
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53. fug & f=fafad =won =1 3fad w0 o safted = :
(a) fofae
(b) M
) fi=s
(d) e
T S & fore ffafed se &1 3w =L
<< :
(1) (), (d), (b), (c) 2)  (d), (a), (b), (c)
(3) (@), (d), (o), (b) 4) (d), (a), (c), (b)
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(@) fHaER
(b) hTed
(c) TERIfS
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(1) (d), (), (@), (c) (2)  (b), (d), (a), (c)
3) (@), (b), (d), () 4)  (d), (b), (9 (a)
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(1) (@), (b), (), (d) (2) (@), (9) (b), (d)
(3)  (9) (a), (b), (d) 4) (@), (9) (d), (b)
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b) aifey
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57. Identify the correct sequence of the pranic body, starting from the top :

(a) Prana

(b) Udana

(c) Apana

(d) Samana

Use the code given below for correct answer :

Code :

1) (@) © @), O) @ ®) @ @ ©

3) (© @ (@), O) 4) @ © O @
58. Arrange the following asanas of Laghu Shankhprakshalana method in a sequential order :

(a) Katichakrasana

(b) Tadasana

(c) Tiryaka Bhujangasana

(d) Udarakarshasana

(e) Tiryaka Tadasana

Use the code given below for correct answer :

Code :

1) ®) (@), @), (), (d) 2 (&), (®) (9) @), (d)

3 (®) (@) (9 @, d) 4) (&), (), (@), (c), (d)
59. Identify the correct sequence of teaching stages :

(a) Teaching

(b) Joints Exercise

(c) Practice

(d) Recreation

Use the code given below for correct answer :

Code :

1) @ © @), ©) @ ©) @ © @

3) (© @ @), ©) 4) (@ © O) @
60. Identify the correct sequence of presentation in yoga teaching.

(a) Demonstration

(b) Evaluation

(c) Explanation

(d) Discussion

Use the code given below for correct answer :

Code :

1) (@ © @), ©) @ ®) @ © @

3) (@ @ (@), O) 4) (@ © O @
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I H YE X gC Tk IR ok T 6H =l I

(a) H

(b) <M

(c) e

(d) ¥AH
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& S & fore frfafad se w1 3w =L

< :

(1) (b), (e), (a), (c), (d) (2)  (e), (b), (c), (a), (d)
(3)  (b), (e), (9), (a), (d) 4)  (e), (b), (a) (o),

TRI&T01 o =[Ol & el A i Te=

(a) Teremo

(b) EirTd SHEW

(c) AV

(d) v

& I & fou ffafad ge o sgam i :

<<

(1) (@), (), (d), (b) 2) () (a), (c) (d)
3) (), (@), (d), (b) 4) (@) (o) (b), (d)

IR YIS0 H YRRl o TRl ShH i TEdM &Y
(a) YA

(b) AR

(c) TR

d) ==

& I & fore ffafed se &1 3w =L

<< :

(1 (@), (0) (d), (b) (2)  (b), (@), (9) (d)
3) (o (@ , ,

, (@), (d), (b)
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61. Match the List-I with List-II and select the correct answer using the code given below :

List-I List-II
(a) Vedana (i) Roop
(b) Aadarsha (i) Gandha
(c) Varta (iii) Shabda
(d) Shravana (iv) Sparsha
Code :
@ (® (9 (9
O 6 ) @ @
@ (v 6 @ )
@) @) G @ @)
@) @ @ ) 0
62. Match the List-I with List-II and select the correct answer using the code given below :
List-I List-II
(a) Satya (i) Klesha
(b) Tapa (i) Yama
(c) Abhinivesha (i) Chitta Vritti
(d) Nidra (iv) Kriya Yoga
Code :
@ () (9 (d)
1) G @ @ 6
@ @ @ O
@) @) Gv) @ ()
@) G @) @ 0

63. Match the List-I with List-II and select the correct answer using the code given below :
List-I List-II

(a) P1jamana (1) False Knowledge
© Vipamaya () Absenceof g
(d) Nidra (iv) Imaginary Knowledge
o (:a) (b) (o) (d)
1 O @) @ @)
) @Gv) @) (@) ()
G) @) @Gv) @ ()
@4 @ @ (v) (i)
acor [ HERURNAN 8 Fapec




61. Tl -1 - 11 911 GAfea o 3R = 8 T8 %2 1 T od 3¢ He fashed 9+ ¢

gt - 1 T - 11
(a) o () ®9
(b) 3TeH (i) 7™
(c) (i) E
(d) &I (iv)
e @@ (b)) (o) (d)
1) @ (v) (@) (i)
(2 Gv) @ @) ()
G) @) @) @) o (Qv)
(4) (@) (@) (@v) ()
62. T - I I Gt - 11 o 91 GAfed o iR = fd 79 e &1 7600 hid g 9l foshed 94 ¢
gt - 1 T - 11
(a) THA () I
(b) 9 (i) =¥
(c) srfufer (i) e ‘q;:rT
(d) fs (iv) fopem
A @@ (b) (o) (d)
1) @v) () (@) ()
(2) i) G @ (@)
(3) ) (Gv) @ (i)
(4) (@v) @) @@ @
63. e - 1 &I Gl - I1 & W gafed ¢ 3R A9 K8 T e 1 T :d gU w9t W A
e - 1 gl - 11
(a) Y= () fremam
(b) fashed (i) e IH
() fawd= (iti) o=l =T 3tuTE
(d) = (iv) hIedTeh I
b @@ (b)) (o) (d)
1) @ @@ @ o (Qv)
(2)  Gv) (1) (D) (i)
G) ) (Gv) @ (i)
(4) @) @ (v) (i)
oo [N y




64.
List-1
(a) Maitri @)
(b) Karuna (ii)
(c) Upeksha (iii)
(d) Mudita (iv)
Code :
@ (b) () (d)
M) @) @ 6 G
@ @ @) 6 G
@) @ Gv @) 0
@) v @ @ 0
65.
using the code given below :
List-I
(Samadhi)
(a) Dhyana Yoga
(b) Nada Yoga
(c) Bhakti Yoga
(d) Raja Yoga
Code :
@ (b) (9 (d)
O 6 @) (v @
@ @ @) O @
G) G O @) @
) @ O v (@)
66.
List-I
(a) Pancreas
(b) Thyroid Gland
(c) Pituitary Gland
(d) Adrenal Gland
Code :
@@ (b) (9 (d)
(1) (v) @) @ @
2 @ @ @) @)
G) @) @ @) ()
@) (v) @) @& @
S

Match the List-I with List-II and select the correct answer using the code given below :

List-1I
Paapa Karmi
Sukhi

Punya karmi
Dukhi

According to Gheranda Samhita, Match the List-I with List-II and select the correct answer

List-II
(Sadhana)
(i) Manomurchha Mudra
(i) Kumbhaka
(iii) Shambhavi Mudra
(iv) Khechari Mudra

Match the List-I with List-II and select the correct answer using the code given below :

List-1I
(i) Vasopressin
(i) Corticoids
(i) Thyroxin
(

iv) Insulin
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T - et - 11
(a) T () 9 A
(b) O (i) g
(c) uam (iii) qUF hHHI
(d) Hfear (iv) 3@t
<

@ () (¢ (d
(1) (@v) @ @ @)
(2) @@ @) @ @)
(3) (@) (@v) (@) ()
4)  (@v) @) (@) ()

65. ERUS Hfgd o STTAR Gt - 1 1 Tt - 11 o 1o Fafera ¢ IR = o8 T e o1 7m hid ge ot

et -1 el - 11
(T ) (|reT)
() A AT (i) et g
(b) & =M (i) FH9H
(c)  sifert =T (i) TR gET
(d) TSI (iv) =Rl gzl
<
@ (b) (9 (d)
1) @ @) @v) (i)
(2) @) (@Gv) (@) (i)
®) (@v) @) (@) (i)
4) (@) @) (Gv) (i)
66. T - I Tl eIt - I1 & T Fafed oL AR A= K8 T Fe 1 7867 ad gC w2 foshed 94
et -1 KU
(a) STARM () SR
(b) 31EE Uty (i) wIfEHEISH
(c) rw Uty (iii) SR
(d) e ity (iv) =gfer
<
@@ (b) (9 (d)
(1) @v) @) @) ()
2 @ @) () (iv)
53) (w) (i) (ii) (1)
10017 IHI\I\III\ 5




67.

68.

69.

(v) (D)
oo [ IFH

Match the List-I with List-II and select the correct answer using the code given below :

List-1 List-1I
(a) Vitamin A (i)  Build strong bones
(b) Vitamin D (i) Essential for Hb formation
(c) Vitamin K (iii) Vital to good vision
(d) Iron (iv) Essential for blood clotting
Code :
@ () (9 (9
W) @ 6 @ W)
@ O G @ W)
@) @ 6 @) @
@) O G @ W)
Match the List-I with List-II and select the correct answer using the code given below :
List-I List-1I
(a) Namaskarasana (i) Om Ravaye Namah
(b) Padahastasana (i) Om Mitraya Namah
(c) Hasta-Uttanasana (i) Om Suryaya Namah
(d) Ashvasanchalanasana (iv) Om Bhanave Namah
Code :
@ () (9 (d)
W) @ G @) @
@ @ G 6 @)
@) @) @ 0 @)
@) @ @ 0 @
Match the List-I with List-II and select the correct answer using the code given below :
List-I List-1I
(a) Trial and error learning (i) Pavlov
(b) Learning by conditioning (ii) Kohler
(c) Learning by insight (iii) Skinner
(d) Operant conditioning (iv) Thorndike
Code :
@ () (9 (d)
O O G @ )
@ @ @) 6 G
@) @) O @ )
(4) 0 @@ G

)
L
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67. T - 1 1 Gl - I1 & W Gafed o 3R A= K8 T e 1 T :d gU w9l S| A
T - 1 gt - 11

(a) faaf A (i) sfgedl #1 AelgQ IAm §
(b) feerf@ D (i) Erwefen faf ¥ siferd
(c) foarfim K (iii) 3T=St gfe < ford sTavae
(d) @i a (iv) & S % ford arfrard
<< :
@@ (b)) (o) (d)
1) @) @) @) (@Qv)
2 @ @) @) o (@Qv)
(3) (@) (i) (v) (i)
(4) (@) @) @) ()
68. T - [ I et - 11 3 T1e Fafed i IR = fd T e 1 7= hdd gL ¥l foshed 94 ¢
gt - 1 T - 11
(a) THERREA () % I =
(b) UICEEEA (i) 3% T =:
(c) &&-SAEEA (ili) % FIE TH:
(d) STREEATAEA (iv) 3% WY 7
e
@@ (b (o) (d)
1) @) @D @Gv) ()
(2) @) @) @ (@)
() @) (@) (@) ()
(4) @) (@v) (@) (i)
69. T - I I Gt - 11 3 91 GAfed L iR = fd 78 Fie o1 7800 id g 9el S 94
gt - 1 T - 11
(a) TE SR Ffe st @) e
(b) 3TIHeH R e (i) hIBR
(c) oidsfe gru st (iii) &R
(d) IHERRl 3Tk (iv) deE®
e
@@ (b) (o) (d)
1) @ (Gv) @) (i)
(2) @) Gv) @ (i)
G) Gv) @ @) (i)
(4) (v) (1) (D) (i)
oo [ {IFH AU .




70. Match the List-I with List-II and select the correct answer using the code given below :

List-I List-II

(Brain Waves) (State)
(a) Alpha (i)  Super consciousness
(b) Beta (i) Agitated
(c) Theta (iii) Relaxed
(d) Delta (iv) Meditative
Code :

(@ (b) (o) (d)
(1) @@ @) @ ()
(2) @) (@) (@) ()
() (@) @) (@v) ()
4) @) @v) @ @

Read the following paragraph carefully and answer the five questions (Question no. 71 to 75) :

According to yoga philosophy there are four main aims of human life. These are Dharma
(sense of duty), Artha (material needs), Kama (enjoyments) and Moksha (spiritual realization).
Dharma is the careful observation of one’s ethical, social, intellectual and religious duties in daily
life. Without ethical quality, spiritual attainment is not possible, so it must be followed through out
life. Artha is acquisition of wealth in order to progress towards higher pursuits of life including
understanding the main purpose of life. One is not meant to be greedy while accumulating wealth,
but only to meet one’s needs to be free from worries. Kama means enjoyment of the pleasures of
life provided one does not lose the health and harmony of body and mind. Kama are aesthetic
longings of human personality, which include the expression of five senses and satisfaction of
desires. Moksha means freedom from the bondage of worldly pleasures and liberation. Itis possible
only when one is free from physical, psychological, intellectual and environmental afflictions. At
this state person realizes that power, knowledge, wealth and pleasure are merely passing phases
of life. Practice of Ashtanga yoga is the best way to achieve all four aims of life.

71. What is the meaning of Moksha ?
(1) Sense of duty (2) Enjoyments
(3) Spiritual realization (4) Material needs

72. Aesthetic longings of human personality are called :

(1) Dharma (2) Kama (3) Artha (4) Moksha
73. Acquisition of wealth in order to progress towards higher pursuits of life is called :

(1) Dharma (2) Artha (3) Kama (4) Moksha
74. Spiritual attainment is not possible without :

(1) Intellectual quality (2) Mental quality

(3)  Physical quality (4) Ethical quality

75. The best way to achieve all the four aims of life, is the practice of :
(1) Gyana Yoga (2) Karma Yoga (3) Ashtanga Yoga (4) Bhakti Yoga

-00o0-
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70. e - 1 &1 GOl - I1 & 0 gafad o 3R F K8 T e 1 7@ :d gU w9l W A

it -1 e - 11

(ufeTss a@T) ( 3TarEeT)
(a) 3T (i) S=AH <
(b) it (i) i
(c) (iii) foard
d) <= (iv) EAFEH
<

(@ (b) (9 (d)
(1) () (i) (@) o (iv)
(2) () (D) (iv) (i)
(3) (D) (i) (iv) (i)
4) (@) @Gv) @) @

et feu T ey i WrauTigde U i WY WEAT 71 | 75 o STX S

AN T F STUR UFE Siiad & IR TgE 2 ¥ 1 A ¥d (wde 9q@), o1 (ifde erevEean),
F (3THT) AR et (smenferss ay) €1 o <fek Sfam o =afaa & ifa-faweres, amfees, smenfas
3R enfifer el 1 AELMIYE 9o €| Afaeh o0 o for stenfores Suafsy Hva =& €, safen, so
STTSTa Tt KT =1fet | 37ef S & =R 3egal ot faun ® wwifa & faw em-o1ei B, fored Sfe & g
3T i T off Giwfad B 1 ¥9-999 L 99T Afdd Tl A=l T8l BFT S8y, sfesh (9% 379
STATIhatet &1 qfd AT e qieh a8 foid1 | qo W1 & 1 272 @ *1 TG aft T €, 579 9
T8 TR IR YR U Ak & i GEIfd 1 7 WT | HH T Sl i Goraqol ehiend §, foaw
ol st sfieafa iR sl w1 Ggfe ot afmfed €1 Hier o1 o1ef wieie g@i & su 9 gie ik
I € | I aft Hua ¥, w1e SAfaa i, A, sneAtfores SR ardravia el @ gad W |
39 T § Af eva Xl ¢ ok ufe 9M, o9 iR s g@ Sitaq & 915 drehifars 9 o =1 € |
TSI AT <t WL Siia & A IR £330 i Wit ol Gaiad aliehl 2|

71. el 1 o 31ef § 2
(1) dA & (2) g

(3) eTeAfeRek Wy (4) faw sTevFRAT
72. WA AfE i G&Iaqul SIS i gl S © :

1) =+ (2) wM (3) e (4) &
73. SfieH % oA 3L i fawn § i o foq em-31sia il el S ©

(1) ud (2) 4 (3) &M (4) Hig
74. STeATcHE SqAtsy Toreer forT Hve 71 @ -

(1)  smeAcRsh U0 (2) HFAES O

(3) IR (4) Hfaew 7o
75. S o T} TR 34T kil G o1 Gaiad qiiohl fohdeh! AT :

1) IEIA (2) ®°am (3)  ST=IT A (4) ofed =am
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